LONG MULTIPLICATION

2-DIGIT BY 2-DIGIT

WORKSHEET - 3

16 78 25 97

x 82 x 44 x 29 x 18

32 312 225 776

+ 1280 + 3120 + 500 + 970
= 1312 = 3432 = 725 = 1746
74 99 84 36

x 38 x 46 x 22 x 47

592 594 168 252

+ 2220 + 3960 + 1680 + 1440
= 2812 = 4554 = 1848 = 1692
65 95 28 71

x 41 x 52 x 76 x 34

65 190 168 284

+ 2600 + 4750 + 1960 + 2130
= 2665 = 4940 = 2128 = 2414
96 83 49 99

x 72 x 61 x 17 x 32

192 83 343 198

+ 6720 + 4980 + 490 + 2970
= 6912 = 5063 = 833 = 3168
51 94 28 74

x 13 x 30 x 38 x 50

153 0 224 0

+ 510 + 2820 + 840 + 3700
= 663 = 2820 = 1064 = 3700
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